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1.	 _mM© 2014 _Ü`o _bo{e`mMo H$moUVo {d_mZ ~onÎmm Pmbo? 
(1)	 E_.E. - 21 	 (2)	 EM.E_. - 270 
(3)	 E_.Eb. - 270 	 (4)	E_.EM. - 370

�� Which Malaysian Flight got disappeared in March 
2014 ? 
(1)	 MA - 21 	 (2)	 HM - 270
(3)	 ML - 270	 (4)	 MH - 370

2.	 2013 _Ü¶o B§Q>aZoQ>Mm dmna H$aUmè`m Xoem§_Ü`o ^maVmMo 
ñWmZ H$moUVo? 
(1)	 6 do 	 (2)	 5 do 	 (3)	 4 Wo	 (4)	 3 ao

�� Where did India stand in the World in the Internet 
use in 2013 ?
(1)	 6th	 (2)	 4th	 (3)	 4th	 (4)	 3rd

3.	 "X Q>mB©åg Am°\$ B§{S>`m' ~m~V Imbrbn¡H$s H$moUVo {dYmZ 
~amo~a Zmhr?
(1)	 175 dm dYm©nZ {XZ ZwH$VmM gmOam H$aÊ`mV Ambm.
(2)	 dYm©nZ {XZ 12 Zmoìh|~a, 2012 amoOr gmOam H$aÊ`mV 

Ambm.
(3)	 ñ_¥Ë`W© 5 én`m§À`m Q>nmb {V{H$Q>mMo AZmdaU ^maVmMo 

amï´>nVr àUd _wIOu `m§À`m hñVo H$aÊ`mV Ambo. 
(4)	 175 dfmªMo OwZo Zìho Va 175 dfmªMo VéU, {dZrV O¡Z  

X Q>mB©åg J«wnMo _°ZoOtJ S>m`aoŠQ>a `m§Zr Voìhm åhQ>bo.
�� Which of the following statements is not correct 

about 'The Times of India' ?
(1) 	 175th anniversary was celebrated recently. 
(2)	 The anniversary was celebrated on 12th November, 

2012. 
(3) 	 The commemorative stamp of Rs. 5 was released 

by Pranab Mukherjee, the President of India
(4)	 "Not 175 years old but 175 years young", said 

Vineet Jain The Times Group Managing Director
4.	 gdm}ƒ Ý`m`mb`mÀ`m _w»` Ý`m`mYrem§~m~V Imbrb {dYmZo 

{dMmamV ¿`m :
(a)	 Ý`m`_yVu amO|Ð_b bmoT>m `m§Mr ZwH$VrM ^maVmMo _w»` 

Ý`m`mYre åhUyZ Zo_UyH$ Pmbr Amho. 
(b)	 Vo gdm}ƒ Ý`m`mb`mMo 40 do gaÝ`m`mYre AmhoV. 
(c)	 Vo OmZodmar 1994 _Ü`o amOñWmZ Cƒ Ý`m`mb`mMo 

Ý`m`mYre ~Zbo hmoVo. 
(d)	 Vo _o 2008 _Ü`o {X„r Cƒ Ý`m`mb`mMo _w»` Ý`m`mYre 

~Zbo. 
n`m©`r CÎmao : 
(1)	 {dYmZ (a) Am{U (b) ~amo~a, (c) Am{U (d) MwH$sMo. 

(2)	 {dYmZ (a) Am{U (b) MwH$sMo, (c) Am{U (d) ~amo~(a) 
(3)	 {dYmZ (a) Am{U (d) ~amo~a, (b) Am{U (c) MwH$sMo. 
(4)	 {dYmZ (a) Am{U (c) ~amo~a, (b) Am{U (d) MwH$sMo. 

�� Consider the following statements with regard to 
the Chief Justice of India : 
(a)	 Justice Rajendramal Lodha has been appointed as 

CJI recently.
(b)	 He is the 40th CJI of Supreme Court. 
(c)	 He became a judge of Rajasthan High Court in 

Jan. 1994. 
(d)	 He became the Chief Justice of the Delhi High 

Court in May 2008. 
Answer Options : 
(1)	 Statement (a) and (b) are correct, (c) and (d) are 

false. 
(2)	 Statement (a) and (b) are false, (c) and (d) are 

correct. 
(3)	 Statement (a) and (d) are correct, (b) and (c) are 

false. 
(4)	 Statement (a) and (c) are correct, (b) and (d) are 

false.

5.	 Imbrb {dYmZo {dMmamV ¿`m : 
(a)	 Ho$ÝÐr` _§{Ì_§S>imZo \o$~«wdmar 2014 _Ü`o g_mZ g§Yr 

Am`moJmÀ`m ñWmnZog _mÝ`Vm {Xbr. 
(b)	 g_mZ g§Yr Am`moJmMm àñVmd Ho$ÝÐr` _§Ìmb`mZo gƒa 

g{_VrÀ`m {e\$maerZwgma V`ma Ho$bm Amho. 
(c)	 g_mZ g§Yr Am`moJ 5 gXñ`m§Mm AgyZ Ë`mÀ`m à_wInXr 

gdm}ƒ Ý`m`mb`mMo {Zd¥Îm Ý`m`mYre AgVrb. 
darb {dYmZm§n¡H$s H$moUVo ~amo~a AmhoV? 
(1)	 (a), (c) 	 (2)	 (a), (b) 
(3)	 (b), (c) 	 (4)	darb gd© 

�� Consider the following statements : 
(a)	 Union Cabinet in Feb 2014 approved the setting 

up of an Equal Opportunities Commission (EOC). 
(b)	 The proposal for EOC was made by the Union 

Ministry on the recommendations of Suchar 
Committee. 

(c)	 The EOC is a five member body and will be 
headed by a retired Judge of the Supreme Court. 

Which of the above statements are correct ? 
(1)	 (a), (c) 	 (2)	 (a), (b) 
(3)	 (b), (c) 	 (4)	 All the above
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6.	 b¢{JH$ N>i à{V~§YH$ {dYo`H$m~m~V Imbrb {dYmZo 
{dMmamV ¿`m.
(a)	 amÁ`g^oZo Vo gd©g§_VrZo _§Oya Ho$bo hmoVo. 
(b)	 amÁ`g^oZo Vo àM§S> ~hþ_VmZo _§Oya Ho$bo hmoVo. 
(c)	 ImOJr joÌ dJivm g§K{Q>V Am{U Ag§K{Q>V joÌmVrb 

_{hbm§Zm g§ajU {Xbo Jobo. 
(d)	 VH«$ma{ZdmaUmgmR>r A§VJ©V `§ÌUm {Z_m©U H$aUo 

Amdí`H$ Amho. 
n`m©`r CÎmao : 
(1)	 (a) Am{U (c) ~amo~a	 (2)	 (b) Am{U (d) ~amo~a 
(3)	 (b) Am{U (c) ~amo~a	 (4)	 (a) Am{U (d) ~amo~a 

�� Consider the following statements regarding the Bill 
to prevent sexual harassment : 
(a)	 It was approved unanimously in the Rajya Sabha 
(b)	 It was approved by a huge majority in the Rajya 

Sabha
(c)	 It seeks to provide protection to women in 

unorganised and organised sectors excluding the 
private sector. 

(d)	 It makes mandatory to have internal redressal 
mechanism for complaints. 

Answer Options : 
(1)	 (a) and (c) correct	 (2)	 (b) and (d) correct 
(3)	 (b) and (c) correct	 (4)	 (a) and (d) correct

7.	 ^maVmVrb n{hbr _moZmoaob Mmb{dUmar _{hbm H$moU? 
(1)	 OwB©br ^§S>mao	 (2)	A_¥Vm _ëhmoÌm 
(3)	 bú_r Omogo\$	 (4)	_mo{ZH$m nQ>ob 

�� Who is the first woman to drive Monorail in India? 
(1)	 Juilee Bhandare	 (2)	 Amruta Malhotra 
(3)	 Laxmi Joseph	 (4)	 Monika Patel

8.	 2013 Mm _amR>r gm{hË` AH$mX_r nwañH$ma Hw$Umbm àmá Pmbm? 
(1)	 dg§V Am~mOr S>hmHo$	 (2)	 Zm_Xod H$m§~io 
(3	 _méVr {MÎm_n„r	 (4)	g{Ve H$migoH$a 

�� Who won the Sahitya Academy ward for Marathi 
in 2013 ? 
(1)	 Vasant abaji Dahake	 (2)	 Namdeo Kamble 
(3)	 Maruti Chitampali	 (4)	 Satish Kalsekar

9.	 _§{Ì_§S>imÀ`m Am{W©H$ ì`dhma g{_VrZo OmZodmar_Ü`o H$_r 
CËnÞ Agboë`m Mma amÁ`m§gmR>r J«m_rU nmUr nwadR>m d 
{Z:gmaU àH$ënmÀ`m A§_b~OmdUrgmR>r gh_Vr Xe©{dbr 
Vr amÁ`o åhUOo : 
(a)	 Amgm_ 	 (b)	 {~hma	 (c)	 PmaI§S> 
Mm¡Wo amÁ` H$moUVo? 
(1)	 N>ÎmrgJS>	 (2)	 CÎma àXoe 
(3)	 CÎmamI§S>	 (4)	_Ü` àXoe 

�� The Cabinet Committee on Economic affairs (CCE) 
in January gave its nod for the implementation of 
the Rural Water Supply and Sanitation Project for 
four Low Income States i. e. 

(a)	 Assam	 (b)	 Bihar	 (c)	 Jharkhand 
Which is the fourth state ? 
(1)	 Chattisgarh	 (2)	 Uttar Pradesh 
(3)	 Uttarakhand	 (4)	 Madhya Pradesh

10.	 ^maV Am`.gr.gr. dëS©> H$n 20 - 20 ~m~V OmoS>çm bmdm. 
	 df©	 {dOoVm		  Cn{dOoVm 
(a)	 2007	 ^maV	 (i)	 lrb§H$m 
(b)	 2010	 B§½b§S>	 (ii)	 nm{H$ñVmZ 
(c)	 2012	 doñQ> B§S>rO	 (iii)	Am°ñQ´>o{b`m 
(d)	 2014	 lrb§H$m	 (iv)	 ^maV 
n`m©`r CÎmao :
		 (a)	  (b) 	 (c) 	 (d) 
(1)	 (ii)	 (iii)	 (i)	 (iv) 
(2)	 (iii)	 (ii)	 (i)	 (iv) 
(3)	 (i)	 (ii)	 (iv)	 (iii) 
(4)	 (i)	 (i)	 (iii)	 (iv) 

�� Match the pairs with regard to ICC World 
Twenty-20 Cup. 
	 Year	 Winner		  Runner-up 
(a)	 2007	 India	 (i)	 Sri Lanka 
(b)	 2010	 England	 (ii)	 Pakistan 
(c) 	 2012	 West Indies	 (iii)	 Australia 
(d)	 2014	 Sri Lanka	 (iv)	 India 
Answer options :
		 (a)	 (b)	 (c)	 (d) 
(1)	 (ii)	 (iii)	 (i)	 (iv) 
(2)	 (iii)	 (ii)	 (i)	 (iv) 
(3)	 (i)	 (ii)	 (iv)	 (iii) 
(4)	 (ii)	 (i)	 (ii)	 (iv)

11.	 "MmoJ_' (CHOGM) 2013 ~m~VrV Imbrb {dYmZo 
{dMmamV ¿`m. 
(a)	 Zmoìh|~a 2013 _Ü`o H$mob§~mo `oWo Pmbo. 
(b)	 ^maVmMo n§VàYmZ hOa ZìhVo. 
(c)	 H°$ZS>m d _m°[aegÀ`m ZoË`m§Zr ~{hîH$ma KmVbm. 
(d)	 53 emgZmÀ`m à_wIm§n¡H$s \$º$ 27 hOa 
(e)	 amï´>Hw$bmÀ`m à_wI amUr E{bPm~oW-II `m hOa hmoË`m. 
(f)	 _bo{e`mMr "MmoJ_ -2015' gmR>r `O_mZ åhUyZ 

{ZdS> Pmbr. 
darbn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV? 
(1)	 (b) \$º$ 	 (2)	  (a) Am{U (c) 
(3)	 (d) Am{U (e) 	 (4)	 (e) Am{U (f) 

�� Consider the following statements regarding 
'CHOGM² - 2013' : 
(a)	 Held at Colombo in Nov. 2013. 
(b)	 P. M. of India was not present. 
(c)	 Leaders of Canada and Mauritius boycotted 
(d)	 Out of 53 heads of the Govt. only 27 attended 
(e)	 Queen Elizabeth-II the head of Commonwealth 

attended 
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(f)	 Malaysia is chosen as the host for CHOGM -2015. 
Which of the above statements is/are not correct ? 
(1)	 (b) only 	 (2)	 (a) and (c) 
(3)	 (d) and (e)	 (4)	 (e) and (f)

12. 	 "A§S>a{ZW Xr gXZ© H«$m°g' ho à{gÕ AmË_M[aÌ H$moUË`m 
IoimSy>Mo Amho? 
(1)	 _h|Ð qgJ YmoZr	 (2)	 [aH$s nm±qQ>J 
(3)	 H${nb Xod	 (4)	_m`Ho$b hgr 

�� Which player has written the famous autobiography 
'Underneath the Southern Cross' ?
(1)	 MahendraSingh Dhoni 
(2)	 Ricky Ponting 
(3)	 Kapil Dev	
(4)	 Michael Hussey

13.	 Imbrb {dYmZo {dMmamV ¿`m :
(a)	 A¾r - IV `m AmpÊdH$ j_Vm Agboë`m jonUmómMr 

^maVmZo `eñdr MmMUr Ho$br Amho. 
(b)	 A¾r - IV Mm _maH$ Q>ßnm 3000 {H$bmo _rQ>a Amho. 
(c)	 20 _rQ>a C§MrMo jonUmó AgyZ dOZ 17 Q>Z Amho. 
darbn¡H$s H$moUVr {dYmZo gË` AmhoV? 
(1)	 (a) Am{U (b) 	 (2)	 (b) Am{U (c) 
(3)	 (a) Am{U (c) 	 (4)	 (a), (b) Am{U (c) 

�� Consider the following statements : 
(a)	 India successfully test fired its nuclear capable 

strategic missile Agni - (iv) 
(b)	 Agni - iv has a strike range of about 3000 km. 
(c) 	 The 20 metre tall missile weighs 17 tonnes. 
Which of the above are true ? 
(1) 	 (a) and (b)	 (2)	 (b) and (c) 
(3)	 (a) and (c) 	 (4)	 (a), (b) and (c)

14.	 Ama.~r.Am`. (RBI) À`m So>ß`wQ>r JìhZ©a~m~V Imbrb 
{dYmZo {dMmamV ¿`m :
(a)	 Ama. Jm§Yr `m§Mr ZwH$VrM Ama.~r.Am`. À`m So>ß`wQ>r 

JìhZ©anXr Zo_UyH$ Pmbr Amho. 
(b)	 Ë`m§Mr Zo_UyH$ nmM dfm©gmR>r Amho. 
(c)	 Vo Zm_m§{H$V ~±H$a AmhoV. 
(d)	 Vo AW©VÁk AmhoV. 
(e)	 AmZ§X {gÝhm `m§À`m OmJr Vo Zo_bo JoboV. 
n`m©`r CÎmao : 
(1)	 {dYmZo (a), (b), (c) ~amo~a, (d), (e) MwH$sMo 
(2)	 {dYmZo (a), (b), (d) ~amo~a, (c), (e) MwH$sMo 
(3)	 {dYmZo (b), (c), (e) ~amo~a, (a), (d) MwH$sMo 
(4)	 {dYmZo (a), (c), (e) ~amo~a, (b), (d) MwH$sMo 

�� Consider the following statements regarding Deputy 
Governor of RBI : 
(a)	 R. Gandhi has been appointed as the Dy. Governor 

of RBI recently. 
(b)	 His appointment is for a term of 5 years.

(c)	 He is a noted banker. 
(d)	 He is an economist. 
(e)	 He replaced nand Sinha 
Answer Options : 
(1)	 Statements (a), (b), (c) correct, (d), (e) false 
(2)	 Statements (a), (b), (d) correct, (c), (e) false 
(3)	 Statements (b), (c), (e) correct, (a), (d) false 
(4)	 Statements (a), (c), (e) correct, (b), (d) false

15.	 `mo½` OmoS>çm Owidm :
(a)	 hdmB©Xb à_wI 	 (i)	 {~H«$_ qgJ 
(b)	 Zm¡Xb à_wI 	 (ii)	 Aén amhm 
(c)	 ^ygoZmXb à_wI	 (iii)	 am°{~Z Ho$. YdZ 
(d)	 ^maVr` VQ>ajH$ Xb	 (iv)	 AZwamJ JmonmbZ 
	 _hmg§MmbH$ 		  Vmnbrbmb
n`m©`r CÎmao:
		 (a) 	 (b)	 (c) 	 (d) 
(1) 	 (ii) 	 (i) 	 (iii) 	 (iv) 
(2) 	 (ii)	 (iii) 	 (i) 	 (iv) 
(3) 	 (iv) 	 (ii) 	 (i)	 (iii) 
(4) 	 (i)	 (iv) 	 (ii)	 (iii) 

�� Match the following: 
(a)	 Chief of Air Staff 	 (i)	 Bikram Singh 
(b)	 Chief of Naval Staff 	 (ii)	 Arup Raha 
(c)	 Chief of Army Staff 	 (iii)	 Robin K. Dhawan 
(d)	 Director General of  	 (iv)	 Anurag Gopalan 
	 Indian Coast Guard 		  Taplilal
Answer options :
		 (a) 	 (b)	 (c) 	 (d) 
(1) 	 (ii) 	 (i) 	 (iii) 	 (iv) 
(2) 	 (ii)	 (iii) 	 (i) 	 (iv) 
(3) 	 (iv) 	 (ii) 	 (i)	 (iii) 
(4) 	 (i)	 (iv) 	 (ii)	 (iii) 

16.	 amOHw$_mar A_¥V H$m¡a øm H$moUË`m _VXma g§KmVyZ g§{dYmZ 
g^oda {ZdSy>Z Amë`m hmoË`m?
(1)	 {~hma 		 (2)	H|$Ðr` àm§V 
(3)	 ~m±å~o 		 (4)	n§Om~ 

�� From which of the following provinces Rajkumari 
Amrit Kaur was elected on the Constituent Assembly? 
(1)	 Bihar 		 (2)	 Central Provinces 
(3)	 Bombay 	 (4)	 Punjab

17.	 _hmamï´>mVrb ~hþVm§e IoS>çmV J«m_g^m `eñdr Z hmoÊ`mMr 
H$maUo H$moUVr?
(1)	 gan§MmMr CXmgrZVm
(2)	 J«m_n§Mm`V gXñ`m§Mr A{ZÀN>m 
(3)	 bmoH$m§Mr {ZajaVm	
(4)	 darb gd©

�� Which of the following main causes is/are responsible 
for unsuccessful Gram Sabha in the Villages of 
Maharashtra ?
(1)	 Lack of interest on the part of Sarpanch
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(2)	 Unwillingness of the members of Gram Panchayat
(3)	 Illiteracy of People 	
(4) 	 All the above

18.	 n§Mm`V-amO `moOZoMm gd©àW_ ñdrH$ma ^maVmV H$moUË`m 
XmoZ amÁ`m§Zr Ho$bm? 
(1)	 amOñWmZ Am{U _hmamï´>	
(2)	 amOñWmZ Am{U Am§Y« àXoe 
(3)	 amOñWmZ Am{U H$Zm©Q>H$	
(4)	 amOñWmZ Am{U _Ü` àXoe

�� Which are the first two states to implement the 
scheme of Panchayat - Raj in India ?
(1) 	 Rajasthan and Maharastra
(2) 	 Rajasthan and Andhra Pradesh
(3)	 Rajasthan and Karnataka
(4)	 Rajasthan and Madhya Pradesh

19.	 n§Mm`V-amO àmoËgmhZ Am{U CÎmaXm{`Ëd `moOZoA§VJ©V - 
2013 bm àW_ H«$_m§H$mMm "Š`wå`yboQ>rìh ñQ>|JXoZtJ B§So>Šg 
Adm°S©>' H$moUË`m amÁ`mbm àmá Pmbm? 
(1)	 H$Zm©Q>H$	 (2)	Ho$ai 
(3)	 {Ìnwam		  (4)	_hmamï´>

�� In 2013 which of the following states stood first and 
got awarded under the Panchayat Empowerment 
and accountability incentive scheme as such the 
"Cummulative Strengthening Index Award". 
(1)	 Karnataka 	 (2)	 Kerala 
(3)	 Tripura 	 (4)	 Maharashtra

20.	 Imbrb {dYmZm§Mm {dMma H$am :
(a)	 _hmamï´>mVrb J«m_n§Mm`V gan§M nXmMm H$m`©H$mb 5 

dfm©Mm AgVmo.
(b)	 _hmamï´>mVrb J«m_n§Mm`V Cngan§MnXmg AmajU AgVo. 
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
(1)	 XmoÝhr ~amo~a	 (2)	 \$º$ (a) 
(3)	 XmoÝhr MyH$	 (4)	 \$º$ (b)

�� Consider the following statements :
(a)	 The tenure of Sarpanch of Maharashtra Gram 

Panchayat is of five years. 
(b)	 There is reservation for the post of Deputy 

Sarpanch of Gram Panchayat in Maharashtra
Which of the above statements is correct ?
(1)	 Both are correct	 (2)	 Only (a) 
(3)	 Both are incorrect 	 (4)	 Only (b)

21.	 amÁ`nmbmMo H$m`© d A{YH$ma `mg§~§Yr Imbrbn¡H$s H$moUVo 
{dYmZ MwH$sMo Amho.
(1)	 amÁ`nmb amÁ` emgZmMm H$m`©H$mar à_wI AgVmo. 
(2)	 amÁ`nmb amÁ`mVrb {dÚmnrR>m§Mm Hw$bnVr AgVmo. 
(3)	 _w»`_§Í`mÀ`m g„²`mà_mUo amÁ`nmb H$moUË`mhr _§Í`mbm 

nXÀ`wV H$ê$ eH$Vmo.
(4)	 amÁ`nmbmbm Cƒ Ý`m`mb`mÀ`m Ý`m`mYrem§Mr Zo_UyH$ 

H$aÊ`mMm A{YH$ma Amho.

�� Identify the wrong statement from amongst the 
following about the functions of the Governor.
(1)	 Governor is the executive head of the State Govt. 
(2)	 Governor acts as the Chancellor of State 

Universities. 
(3)	 Governor may dismiss any minister on the advice 

of the Chief Minister. 
(4)	 Governor is the appointing authority of High 

Court Judges.

22.	 _hmamï´> emgZmZo 1984, `m dfu H$emgmR>r, àmMm`© nr.~r. 
nmQ>rb g{_Vr Zo_br hmoVr?
(1)	 àemgH$s` gwYmaUm Am`moJmÀ`m {e\$maetMm Aä`mg 

H$aÊ`mgmR>r. 
(2)	 J«m_n§Mm`VrÀ`m àemgH$s` d Am{W©H$ ~m~rg§~§Yr. 
(3)	 ZJan[afXm d _hmZJanm{bH$m `m§À`m OH$mVr{df`r 
(4)	 {Oëhm n[afXoÀ`m {ZdS>UyH$ gwYmaUm§{df`r 

�� In 1984, for what purpose Government of 
Maharashtra appointed 'Principal P. B. Patil 
Committee'? 
(1)	 To study recommendations of Administrative 

Commission. 
(2)	 Administrative and Financial matters of Gram 

Panchayat. 
(3)	 Octroi of Municipal Council and Municipal 

Corporations. 
(4)	 Election reforms of Zilla Parishad

23.	 9 {S>g|~a 1946 amoOr {X„r `oWo KQ>Zm g{_VrMr n{hbr  
~¡R>H$ KoÊ`mV Ambr. `m g{_VrMo VmËnwaVo AÜ`j åhUyZ 
nwT>rbn¡H$s H$moUË`m ì`{º$Zo H$m_H$mO nm{hbo? 
(1)	 S>m°. ~r. Ama. Am§~oS>H$a	(2)	 S>m°. amO|Ð àgmX 
(3)	 S>m°. g{ƒXmZ§X {gÝhm	 (4)	n§{S>V Odmhabmb Zohê$ 

�� Who worked as a temporary President of the 
Committee on Constitution on 9th December 1946 
at Delhi ? 
(1)	 Dr. B. R. Ambedkar 	
(2)	 Dr. Rajendra Prasad 
(3)	 Dr. Sacchidanand Shinha 
(4)	 Pandit Jawaharlal Nehru

24.	 ^maVr` ZmJ[aH$Ëd aÔ H$aÊ`mg§~§YmVrb Imbrbn¡H$s H$moUVo 
{dYmZ gË` Zmhr?
(1)	 \$gdUyH$ H$ê$Z, ImoQ>r _m{hVr Xe©dyZ qH$dm dñVwpñWVr 

bndyZ ZmJ[aH$Ëd {_idbo Agob 
(2)	 H¥$VrVyZ dm ^mfUmVyZ amÁ` KQ>Zoer ~oB_mZr qH$dm Ðmoh 

Ho$bm Agob 
(3)	 ^maVmer eÌwËd qH$dm `wÕ H$aUmè`m amï´>mbm _XV Ho$br 

Agob
(4)	 ^maVm~mhoa gbJ nmM df} dmñVì` Ho$ë`mg

�� Which of the following statements about the 
deprivation of Indian citizenship is not true ? 
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(1)	 Have obtained citizenship by means of fraud,  
false representation or by concealment of any 
material fact 

(2)	 Disloyalty or disaffection towards the constitution 
shown by an act or speech

(3)	 Assisting an enemy country with whom India is  
at war

(4)	 Continuous residence outside India for five years

25.	 `mo½` OmoS>çm Owidm :
(a)	 gan§M 	 (i)	 J«m_n§Mm`Vr g§KQ>Z 
(b)	 H$b_ 40	 (ii	 J«m_g^oMr ì`m»`m 
(c)	 H$b_ 243 	 (iii)	 J«m_g^oMm AÜ`j
(d)	 Cngan§M 	 (iv)	 gan§MmÀ`m AZwnpñWVrV 
				    J«m‘n§Mm`V ~¡R>H$sMm AÜ`j
n`m©`r CÎmao :
		 (a) 	 (b) 	 (c) 	 (d) 
(1)	 (iii)	 (i)	 (iv)	 (ii) 
(2)	 (iii)	 (i)	 (ii)	 (iv) 
(3)	 (iii)	 (ii)	  (i)	 (iv) 
(4)	 (iv)	 (i)	 (ii)	 (iii) 

�� Match the following: 
(a)	 Sarpanch 	 (i)	 To organize Gram 
				    Panchayat 
(b)	 Article 40 	 (ii)	 Definition of Gramsabha 
(c)	 Article 243 	 (iii)	 Chairman of Gramsabha 
(d)	 Up-sarpanch	 (iv)	 In the absence of Sarpanch 
				    presides over the Gram 
				    Panchayat meetings as a 
				    Chairman
Answer options :
		 (a)	 (b)	 (c)	 (d) 
(1)	 (iii) 	 (i) 	 (iv) 	 (ii) 
(2) 	 (iii) 	 (i)	 (ii) 	 (iv) 
(3) 	 (iii) 	 (ii) 	 (i) 	 (iv) 
(4) 	 (iv) 	 (i) 	 (ii) 	 (iii)

26.	 1920 _Ü`o ^maVmV H$mnS>{JaUr joÌmV ór-H$m_Jmam§Mr 
Q>¸o$dmar {H$Vr hmoVr? 
(1)	 12% 		 (2)	15% 
(3)	 20%		 (4)	5.5%  

�� 1920 what was the percentage of women workers in 
cotton textile mills in India ? 
(1)	 12% 		  (2)	 15% 
(3)	 20% 		  (4)	 5.5%

27.	 amï´>r` H$m±J«ogÀ`m ñWmnZoV _hmamï´>mVrb H$moUË`m ZoË`m§Mm 
gh^mJ hmoVm? 
(a)	 JmonmiH¥$îU JmoIbo	 (b)	 J§Jmam_^mD$ _ñHo$ 
(c)	 Jmonmi JUoe AmJaH$a	 (d)	 {\$amoOehm _ohVm 
n`m©`r CÎmao : 
(1)	 (a) d (b) ~amo~a
(2)	 (b) d (c) MyH$ 

(3)	 (a), (b) Am{U (d) ~amo~a 
(4)	 (a), (b), (c), (d) 

�� Who contributed towards establishment of the 
National Congress from Maharashtra ? 
(a)	 Gopalkrishna Gokhale
(b)	 Gangarambhau Maske 
(c)	 Gopal Ganesh Agarkar 
(d)	 Phiroz Shah Mehta 
Answer options : 
(1)	 (a) and (b) correct	 (2)	 (b) and (c) false 
(3)	 (a), (b) and (d) correct	(4)	 (a), (b), (c), (d)

28.	 {~«{Q>em§Zr ^maVmV VmJ CÚmoJ gwê$ Ho$bm, H$maU :
(a)	 Ë`m§Zm VmJ CÚmoJm~Ôb AmH$f©U hmoVo. 
(b)	 ^maVr` CÚmoJY§Úm§Mm {dH$mg H$aUo. 
(c)	 ^maVr`m§Zm amoOJma {_idyZ XoUo. 
(d)	 dmT>Vr _mJUr hmoVr d A{YH$ Z\$m {_idUo. 
n`m©`r CÎmao : 
(1)	 (a) \$º$ 	 (2)	 (a) Am{U (b) \$º$
(3)	 (a), (b) Am{U (c) \$º$	(4)	 (a) Am{U (d) \$º$ 

�� The British started the Jute Industry in India, 
because : 
(a)	 They had attraction for the Jute Industry. 
(b)	 To develop the Indian Industry. 
(c)	 To generate employment for the Indians. 
(d)	 There was an increase in the demand and to earn 

more profits. 
Answer options : 
(1)	 (a) only 	 (2)	 (a) and (b) only 
(3)	 (a), (b) and (c) only 	 (4)	 (a) and (d) only

29.	 ^maVmV {~«{Q>em§Zr g§nÎmrMr Or byQ> Ho$br Ë`m~Ôb {~«{Q>e 
BñQ> B§{S>`m H§$nZrÀ`m g§MmbH$m§Zm "^maVmV bwQ>mê§$Mr {Z`wº$s 
H$aUmao àm{YH$aU' Ago H$moUr åhQ>bo ? 
(1)	 XmXm^mB© Zm¡amoOr	 (2)	A°S>_ pñ_W 
(3)	 bmoH$_mÝ` {Q>iH$	 (4)	~°S> bm° 

�� Who called the directors of The British East India 
company the appointing authority of the plunderers 
of India ? 
(1)	 Dadabhai Naoroji	 (2)	 Adam Smith 
(3)	 Lokmanya Tilak	 (4)	 Brad Law

30.	 {~«{Q>em§À`m dgmhVdmXmMm ^maVr`m§À`m OrdZm§da H$moUVm 
n[aUm_ Pmbm ZìhVm?
(1)	 ApIb ^maVr` g§KQ>ZoÀ`m {Z{_©VrMr nmíd©^y_r V`ma 

Pmbr. 
(2)	 VimJmimVrb ì`{º$bm ImOJr ñdmV§Í¶ A{O~mV ZìhVo. 
(3)	 ^maVr` IoS>çmVhr gm_m{OH$ {eï>mMma, dof, _Zmoa§OZ 

AmXr~m~V nmíMmÎ¶m§Mo AZwH$aU AmT>ivo. 
(4)	 AZoH$ B§J«Or eãXm§Zr ñWm{ZH$ ^mfm§_Ü`o OmJm KoVbr. 

�� What was not the effect of the British Colonialism 
on Indian life ? 
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(1)	 Background got prepared for emergence of an All 
India Organisation. 

(2)	 No individual freedom for people at the grass root 
level. 

(3)	 Even the rural people started imitating the Westerners 
in social etiquettes, dress, entertainment etc 

(4)	 Many English words became part of local languages.

31.	 H$m±J«og_Yrb H$moUË`m JQ>mda "g§YrgmYy', "{~«{Q>eYm{O©Uo', 
"amOH$s` {^H$mar' Aer Q>rH$m Ho$br OmV Ago? 
(1)	 _hmamï´>r`Z	 (2)	~§Jmbr 
(3)	 Ohmb		 (4)	_dmi 

�� Which group of the Congress was criticized as 
the group of Opportunists, Pro-British, Political 
Beggars? 
(1)	 The Maharashtrian	 (2)	 The Bengali 
(3)	 The Extremists	 (4)	 The Moderates

32.	 nwT>rbn¡H$s H$moUVm aoëdo {dH$mgmMm Am{W©H$ n[aUm_ ZìhVm?
(1)	 eoVrdarb n[aUm_	
(2)	 qH$_VrMo pñWarH$aU
(3)	 CËnmXZmÀ`m {H$_VrÀ`m MT>CVmamV dmT>
(4)	 eham§À`m g§»`oV dmT>

�� Which of the following was not the economic effect 
of the development of railways ? 
(1)	 Impact on agriculture.
(2)	 Stabilization of prices. 
(3)	 Increase in ups and downs of the prices of the 

products. 
(4)	 Rise in the number of cities.

33.	 1857 À`m CR>mdmV H«$m§{VH$maH$m§À`m OmoaXma hëë`mZo OI_r 
hmoD$Z H$moUË`m {~«{Q>e ao{gS|>Q>Mm _¥Ë`y Pmbm ? 
`mo½` n`m©` {ZdS>m.
(1)	 AmoQ´>_ 	 (2)	h°dbmH$ 
(3)	 hoZ«r bm°aoÝg	 (4)	H°$ån~ob

�� Who was the British Resident who got wounded 
in the fierce attack of the revolutionaries and 
succumbed to death during the Revolt of 1857 ? 
(1) 	 Outram	 (2)	 Havlock 
(3)	 Henry Lawrence	 (4)	 Campbell

34.	 "_hmamï´>mMo _m{Q©>Z ë`yWa' åhUyZ H$moUmg AmoiIbo OmVo? 
(1)	 Á`mo{V~m \w$bo	 (2)	 {d. am. qeXo 
(3)	 S>m°. Am§~oS>H$a	 (4)	N>ÌnVr emhÿ _hmamO 

�� Who is known as the 'Martin Luther of 
Maharashtra'? 
(1)	 Jyotiba Phule	
(2)	 V. R. Shinde 
(3)	 Dr. Ambedkar	
(4)	 Chhatrapati Shahu Maharaj

35.	 OmoS>çm bmdyZ `mo½` n`m©` {ZdS>m :
(a)	 gË`emoYH$ g_mOmMr ñWmnZm	 (i)	 1852

(b)	 ~mbhË`m à{V~§YH$ J¥hmMr ñWmnZm	 (ii)	 1863
(c)	 Añn¥í`m§gmR>r emim gwê$	 (iii)	1873
(d)	 eoVH$è`m§Mm AmgyS	 (iv)	 1883 
n`m©`r CÎmao :
		 (a)	 (b) 	 (c) 	 (d) 
(1) 	 (i)	 (ii) 	 (iii) 	 (iv) 
(2) 	 (ii) 	 (i) 	 (iv) 	 (iii) 
(3) 	 (iii) 	 (ii) 	 (i) 	 (iv) 
(4) 	 (iv)	 (iii) 	 (ii)	  (i) 

�� Choose the appropriate option by Matching the pairs :
(a)	 Foundation of Satyashodhak Samaj	 (i)	 1852
(b)	 Foundation of the Home for	 (ii)	 1863 
	 prohibition of Juvenile killing
(c)	 Started school for untouchables	 (iii)	 1873 
(d)	 Shetkaryancha asood	 (iv)	 1883
Answer options :
		 (a) 	 (b) 	 (c) 	 (d) 
(1) 	 (i) 	 (ii) 	 (iii) 	 (iv) 
(2) 	 (ii) 	 (i)	 (iv) 	 (iii) 
(3) 	 (iii) 	 (ii)	 (i) 	 (iv) 
(4) 	 (iv) 	 (iii) 	 (ii) 	 (i)

36.	 `mo½` OmoS>çm bmdm :
(a)	 {^„m§Mm CR>md	 (i)	 1838
(b)	 nmJb n§{W`m§Mm CR>md	 (ii)	 1829
(c)	 H$moù`m§Mm CR>md	 (iii)	1825
(d)	 \$aoOr CR>md	 (iv)	 1817
n`m©`r CÎmao :
		 (a) 	 (b)	  (c) 	 (d) 
(1)	  (i) 	 (ii) 	 (iii) 	 (iv) 
(2) 	 (iii)	  (i) 	 (iv) 	 (ii) 
(3) 	 (iv) 	 (iii) 	 (ii) 	 (i) 
(4) 	 (ii) 	 (iv) 	 (i) 	 (iii) 

�� Match the pairs : 
(a)	 Revolt of the Bhills	 (i)	 1838 
(b)	 Revolt of the Pagal Phanthis	 (ii)	 1829
(c)	 Revolt of the Kolis	 (iii)	 1825 
 (d)	 Phareji Revolt	 (iv)	 1817
Answer options :
		 (a)	 (b)	 (c)	 (d) 
(1)	 (i)	 (ii)	 (iii)	 (iv) 
(2)	 (iii)	 (i)	 (iv)	 (ii) 
(3)	 (iv)	 (iii)	 (ii)	 (i) 
(4)	 (ii)	 (iv)	 (i)	 (iii)

37.	 Xoe^º$sMm àgma H$aÊ`mÀ`m CÔoemZo "AmË_{Zð> `wdVr' 
g_mOmMr ñWmnZm Zm{eH$_Ü`o H$moUr Ho$br? 
(a)	 lr_Vr XþJm©Xodr ~moham	
(b)	 H$ënZm XÎm 
(c)	 gm¡. `ogw ~m~mamd gmdaH$a 
(d)	 gm¡. bú_r~mB© XmVma 
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n`m©`r CÎmao : 
(1)	 \$º$ (c) ~amo~a Amho.
(2)	 (a) d (b) XmoÝhr ~amo~a AmhoV. 
(3)	 darb gd© ~amo~a AmhoV.
(4)	 darb gd© MwH$sMo AmhoV. 

�� Who established Aatmanistha Yuvati Association in 
Nashik to propagate the idea of nationalism ? 
(a)	 Smt. Durgadevi Bohra 
(b)	 Kalpna Dutta 
(c)	 Mrs. Yesu Babarao Sawarkar 
(d)	 Mrs. Laxmibai Datar 
Answer options : 
(1)	 Only (c) is correct.	 (2)	 (a) and (b) are correct. 
(3)	 All are correct.	 (4)	 All options are wrong.

38.	 OmoS>çm Owidm :
(a)	 1887 - I - A_bJ_oQ>oS> gmogm`Q>r Am°\$ aoëdo gìh©Q>g² 

Am°\$ B§{S>`m 
(b)	 1897 - II - Hw$ë`m©À`m ñdXoer {_b_Ü`o g§n 
(c)	 1910 - Iii- H$m_Jma {hVdY©H$ g^m 
(d)	 1910 - Iv - gmoeb gpìh©g brJ n`m©`r CÎmao :
		 (a)	 (b)	 (c)	 (d) 
(1)	 (i)	 (iii)	 (iv)	 (ii) 
(2)	 (iii)	 (i)	 (iv)	 (ii) 
(3)	 (ii)	 (i)	 (iii)	 (iv) 
(4)	 (i)	 (ii)	 (iv)	 (iii) 

�� Match the following: 
(a)	 1887 - I - malgameted Society of Railway Servants 

of India 
(b)	 1897 - II - Strike in Swadeshi Mills at Kurla 
(c)	 1910 - III- Kamgar Hitwardhak Sabha
(d)	 1910 - IV - Social Service League 
Answer options :
		 (a)	 (b)	 (c)	 (d) 
(1)	 (i)	 (iii)	 (iv)	 (ii) 
(2)	 (iii)	 (i)	 (iv)	 (ii) 
(3)	 (ii)	 (i)	 (iii)	 (iv) 
(4)	 (i)	 (ii)	 (iv)	 (iii) 

39.	 nwT>rb KQ>Zm§Mr Ë`m§À`m H$mbmZwH«$_o `mXr H$am.
(a)	 g_Vm g§K	 (b)	 {ZîH$m_ H$_©_R>
(c)	 _{hbm {dÚmb`	 (d)	 _{hbm {dÚmnrR>
n`m©`r CÎmao : 
(1)	 (a)	 (b)	 (c)	 (d) 
(2)	 (d)	 (c)	 (b)	 (a) 
(3) 	 (c)	 (b)	 (d)	 (a) 
(4)	 (b)	 (c)	 (a)	 (d)

�� Arrange the following events in their chronological 
order : 
(a)	 Samata Sangh	 (b)	 Nishkam Karmamath 
(c)	 Mahila Vidyalay	 (d)	 Mahila Vidyapeeth 

Answer options : 
(1)	 (a)	 (b)	 (c)	  (d) 
(2)	 (d)	 (c)	 (b) 	 (a) 
(3)	 (c) 	 (b)	 (d) 	 (a) 
(4)	 (b) 	 (c)	 (a) 	 (d)

40. 	 hmVmZo {dUboë`m ImXrMm dof n[aYmZ H$ê$Z "amOXa~mamV 
(1877)' H$moU CnpñWV hmoVo? 
(1)	 JUoe dmgwXod Omoer	 (2)	 E_. Or. amZSo> 
(3)	 aqdÐZmW Q>mJmoa	 (4)	~mi|ÐZmW Q>mJmoa

�� Who attended the 'Imperial Durbar (1877)', dressed 
in hand-spun Khadi ? 
(1)	 Ganesh Vasudeo Joshi	(2)	 M. G. Ranade 
(3)	 Rabindranath Tagore	 (4)	 Balendranath Tagore

41.	 Imcrc ZH$memV 'XY' aofm ‘mog‘r nmdgmÀ¶m naVrÀ¶m 
àdmgmMr Imcrcn¡H$s Ho$UË¶m VmaIoMr Amho?

(1)	 15 Am°³Q>mo~a	 (2)	1 Zmoìh|~a
(3)	 15 Zmoìh|~a	 (4)	1 {S>g|~a

�� In the above map ‘XY' line is the line of retreating 
monsoon of which of the following day?
(1)	 15th October	 (2)	 1st November
(3)	 15th November 	 (4)	 1st December

42.	 "Eb {ZZmo' hm C~Xma nmÊ`mMm g_wÐàdmh dmhUmè`m XoemMm 
{H$Zmam ............ Amho. 
(1)	 AO]{Q>Zm 	 (2)	 noê$
(3)	 ~«m{Pb 	 (4)	Mrbr 

�� 'EL-Nino' is a warm ocean water current that starts 
along the coast of ..........
(1)	 Argentina 	 (2)	 Peru 
(3) 	 Brazil 	 (4)	 Chile 

43.	 So>¸$Z Amo{S>gr hm g§`wº$ àH$ën MTDC Am{U .......... 
_Ü`o Amho. 



"X ¶w{ZH$ A°H°$S>‘r'

251	 PSI-STI-ASO-SR/IS - g§¶wº$ nyd© narjm 2023 Vo 2012

(1)	 ^maVmVrb hm°Q>ob	 (2)	 aoëdo 
(3)	 E`a B§{S>`m	 (4)	Am`.Q>r.S>r.gr. 

�� Deccan Odyssey is a joint venture between MTDC 
and ............... 
(1)	 Hotels in India	 (2)	 Railways 
(3)	 Air India	 (4)	 ITDC

44.	 ^maVmVrb Imbrb VobewÕrH$aU H|$Ðm§Mr npíM_oH$Sy>Z nyd}H$So> 
_m§S>Ur H$am d Imbr {Xboë`m n`m©`m§_YyZ `mo½` CÎma {ZdS>m. 
(a)	 H$mo`mbr 	 (b)	 ~moÝJB©Jmd 
(c)	 _Wwam 		 (d)	 Zw_brJS> 
n`m©`r CÎmao : 
(1)	  (a)	  (b) 	 (c) 	 (d) 
(2)	  (a)	  (c) 	 (b) 	 (d) 
(3)	  (c) 	 (a) 	 (b) 	 (d) 
(4) 	 (b)	  (d) 	 (c)	  (a) 

�� Arrange the following oil refineries of India from 
West to East and select the correct answer using the 
options given below : 
(a)	 Koyali 	 (b)	 Bongaigaon 
(c)	 Mathura 	 (d)	 Numaligarh 
Answer options : 
(1)	  (a)	  (b) 	 (c) 	 (d) 
(2)	  (a)	  (c) 	 (b) 	 (d) 
(3)	  (c) 	 (a) 	 (b) 	 (d) 
(4) 	 (b)	  (d) 	 (c)	  (a) 

45.	 Imbrbn¡H$s H$moUVm _mgm JmoS>çm nmÊ`mÀ`m _Ëñ`eoVrV  
_hËdmMm Amho? 
(1)	 ~m§JS>m 	 (2)	 qPJm
(3)	 ~m°~rb 	 (4)	H$moi§~r 

�� Which of the following fish is the most important in 
fresh water aquaculture ? 
(1)	 Mackerel 	 (2)	 Shrimp 
(3)	 Mumbai duck 	 (4)	 Prawns

46.	 "by' ho H$moaSo> Am{U YwirMo dmao ^maVmÀ`m dm`ì` ^mJmVyZ 
dmhUma _{hZo. 
(1)	 E{àb - _o	 (2)	  _o - OyZ 
(3)	 OyZ - Owb¡	 (4)	Am°ŠQ>mo~a - Zmoìh|~a 

�� 'Loo' is a dry and dusty wind blowing through  
the north - western part of India in the months of : 
(1)	 April - May	 (2)	 May - June 
(3) 	 June - July	 (4)	 October - November

47.	 Imbrbn¡H$s H$moUVo KQ>H$ d` aMZoda n[aUm_ H$aVmV? 
(a)	 OÝ_Xa		 (b)	 _¥Ë`yXa 
(c)	 bmoH$g§»`oMo AmH$ma_mZ	(d)	 ñWbm§Va 
n`m©`r CÎmao : 
(1)	 (b), (c) Am{U (d)
(2)	 \$º$ (c) 
(3)	 \$º$ (d)	

(4)	 darbn¡H$s H$moUVohr Zmhr 
�� Generally which of the following factors affect age 

structure ? 
(a)	 Birth rate	 (b)	 Death rate 
(c)	 Size of population	 (d)	 Migration 
Answer options : 
(1)	 (b), (c) and (d)	 (2)	 Only (c) 
(3)	 Only (d)	 (4)	 None of the above

48.	 OmoS>çm bmdm :
	 ñV§^ A	  	 ñV§^ B 
(a)	 n§Om~ {h_mb`m	 (i)	 H$mir Am{U {VñVm 
				    ZXr_Yrb {h_mb`m 
(b)	 Amgm_ {h_mb`m 	 (ii)	 qgYy Am{U gVbO 
				    ZXr_Yrb {h_mb`m 
(c)	 Zonmi {h_mb`m 	 (iii)	 gVbO Am{U H$mir 
				    ZXr_Yrb {h_mb`m 
(d)	 Hw$_mD$Z {h_mb`m 	  (iv)	 {Xhm§J d {VñVm 
				    ZXr_Yrb {h_mb`m
n`m©`r CÎmao:
		 (a) 	 (b) 	 (c) 	 (d) 
(1) 	 (iv) 	 (ii) 	 (iii) 	 (i) 
(2) 	 (ii)	 (iv) 	 (i) 	 (iii) 
(3) 	 (i) 	 (iii) 	 (iv)	  (ii) 
(4)	 (ii) 	 (iv) 	 (iii)	  (i)

�� Match the following :
	      Column A		        Column B 
(a)	 Punjab Himalay	 (i)	 Himalayas between 
				    Kali and Tista rivers 
(b)	 Asssam Himalayas	 (ii)	 Himalayas between 	

			   Indus & Sutlaj rivers 
(c) 	 Nepal Himalayas	 (iii)	 Himalayas between 
				    Sutlaj and Kali rivers 
(d)	 Kumaon Himalayas	 (iv)	 Himalayas between 
				    Dihang & Tista rivers
Answer options :
		 (a) 	 (b) 	 (c) 	 (d) 
(1) 	 (iv) 	 (ii) 	 (iii) 	 (i) 
(2) 	 (ii)	 (iv) 	 (i) 	 (iii) 
(3) 	 (i) 	 (iii) 	 (iv)	  (ii) 
(4)	 (ii) 	 (iv) 	 (iii)	  (i)

49.	 {Oëho Am{U Ë`m§Mo {Z{_©Vr gmb `m§À`m `mo½` OmoS>çm bmdm. 
	 {Oëhm			  {Z{_©Vr gmb 
(a)	 Jm|{X`m 	 (i)	 26 Am°JñQ> 1982 
(b)	 dm{e_ 	 (ii)	 16 Am°JñQ> 1982 
(c)	 JS>{Mamobr 	 (iii)	01 _o 1999 
(d)	 bmVya		  (iv)	 01 Owb¡ 1998 
n`m©`r CÎmao :
		 (a) 	 (b) 	 (c) 	 (d) 
(1) 	 (iii) 	 (iv) 	 (ii) 	 (i) 
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(2) 	 (iv)	  (iii)	  (i) 	 (ii) 
(3) 	 (iii) 	 (iv)	  (i)	  (ii) 
(4) 	 (ii)	 (i) 	 (iii) 	 (iv) 

�� Match the following districts with the year of their 
formation :
	  District		  Formation Year 
(a)	 Gondia 	 (i)	 26 August 1982
(b)	 Washim 	 (ii) 	 16 August 1982 
(c) 	 Gadchiroli	 (iii) 	01 May 1999
(d)	 Latur		  (iv)	 01 July 1998 
Answer options :
		 (a) 	 (b) 	 (c) 	 (d) 
(1) 	 (iii) 	 (iv) 	 (ii) 	 (i) 
(2) 	 (iv)	  (iii)	  (i) 	 (ii) 
(3) 	 (iii) 	 (iv)	  (i)	  (ii) 
(4) 	 (ii) 	 (i) 	 (iii) 	 (iv) 

50.	 Imbrbn¡H$s H$moUVr ZXr IMXarVyZ dmhVo?  
(1)	 Xm_moXa 	 (2)	H¥$îUm
(3	 Vw§J^Ðm 	 (4) Vmnr 

�� Which of the following rivers flows through Rift 
Valley ? 
(1)	 Damodar 	 (2)	 Krishna 
(3)	 Tungabhadra	 (4)	 Tapi

51.	 ^maVmMo gdm©V nyd}H$S>rb aoImd¥Îm ........... Amho. 
(1)	 970 25' E 	 (2)	680 7' E 
(3)	 820 50' E	 (4)	900 25' E 

�� Easternmost longitude of India is ......... 
(1)	 970  25' E 	 (2)	 680  7' E
(3)	 820 50' E	 (4)	 900  25' E

52.	 _mZd {dH$mg {ZX}em§H$ _w§~B© Am{U R>mUo {OëømV ........
nojm OmñV Amho. 
(1)	 0.3 		  (2)	0.5
(3)	 0.9 		  (4) 	0.8 

�� Human Development Index in Mumbai and Thane 
districts is more than ..........
(1)	 0.3 		  (2)	 0.5 
(3) 	 0.9		  (4)	 0.8

53.	 Jwé{eIa Imbrbn¡H$s H$moUË`m nd©V am§JoMo gdm}ƒ {eIa 
Amho? 
(1)	 N>moQ>m ZmJnya 	 (2)	Aadbr 
(3)	 qdÜ`m		 (4)	_mbdm 

�� Gurushikhar is the highest peak of which of the 
following ranges ? 
(1)	 Chotanagpur 	 (2)	 Aravalli 
(3)	 Vindhya 	 (4)	 Malwa

54.	 gmo~VÀ`m {MÌmVrb ì`º$s H$moUË`m Am{Xdmgr g_mOmÀ`m 
AmhoV Vo AmoiIm :

(1)	 {^„	 (2)	 Jm|S>	 (3)	 ZmJm	 (4)	 dmabr
�� Identify the tribes from the given image :

(1)	 Bhil	 (2)	 Gond	 (3)	 Naga	 (4)	 Warli

55.	 V¥Vr` ì`dgm`mVrb godm§Mo _w»` H$m`© åhUOo
(1)	 à{H«$`m H$aUo 	 (2)	Jmoim H$aUo 
(3)	 {dVaU H$aUo 	 (4)	gmR>dyZ R>odUo

�� The main function of tertiary occupation is :
(1)	 Processing 	 (2)	 Collection 
(3)	 Distribution	 (4)	 Storing

56.	 ^maVr` [aPìh© ~±Ho$Ûmam _wÐmnwadR>m _mnZmÀ`m àMbm§Mr 
Zì`mZo ì`m»`m H$aÊ`mgmR>r A{bH$S>À`m H$mimV {Z`wº$ 
Ho$boë`m H$m`© JQ>mZo ^maVmVrb _wÐmnwadR>çmÀ`m g§H$ënZoVyZ 
Imbrb KQ>H$ aÔ Ho$bm Amho. 
(1)	 M1	 (2)	 M2	 (3)	 M3	 (4)	 M4 

�� The Working Group recently appointed by 
Reserve Bank of India to redefine the parameters 
for Measuring Money Supply has abolished the 
following component from the concept of money 
supply in India ? 
(1)	 M1	 (2) 	 M2 	 (3)	 M3	 (4)	 M4

57.	 gwI_m°` MH«$dVu g{_VrÀ`m {e\$maerZwgma dmñVd VwQ>rÀ`m 
g§H$ënZoMo `mo½` AW©~moYZ hmoÊ`mgmR>r Imbrbn¡H$s H$moUVr 
g§H$ënZm `mo½` Amho? 
(1)	 _hgwbr VyQ>	 (2)	 amOH$mofr` VyQ> 
(3)	 àmW{_H$ VyQ>	 (4)	darbn¡H$s H$moUVohr Zmhr 

�� As per the recommendations of Sukhmoy 
Chakravarty Committee which of the following 
concepts is suitable for proper interpretation of the 
concept of real deficit ? 
(1)	 Revenue Deficit	 (2)	 Fiscal Deficit 
(3)	 Primary Deficit	 (4)	 None of the above

58.	 Imbrb OmoS>çm Owidm :
(a)	 VobmÀ`m {H$_VrV dmT	 (i)	 eoVrer {ZJ{S>V 
				    A{YH$ 
(b)	 1950-1951 nydu 	 (ii)	 Am{W©H$ ì`dhmam§Mm 
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	 ^maVmMr {Z`m©V 		  AmT>mdm 
(c)	 ì`dhmaVmob	 (iii)	 1990-1991 
(d)	 ì`mnmaVmobmVrb _moR>r VyQ>	 (iv) 	 1973 Z§Va 
n`m©`r CÎmao :
		 (a) 	 (b)	  (c) 	 (d) 
(1) 	 (i) 	 (ii) 	 (iv) 	 (iii) 
(2) 	 (ii) 	 (iv) 	 (iii) 	 (i) 
(3)	 (iii) 	 (i)	 (ii) 	 (iv) 
(4)	  (iv) 	 (i) 	 (ii) 	 (iii) 

�� Match the following: 
(a)	 Increase in oil prices	 (i)	 Maximum related 	

			   to agriculture 
(b)	 Exports of India before	 (ii)	 A review of 
				    economic 1950-	

			   1951 transactions 
(c)	 Balance of payment	 (iii)	 1990-1991 
(d)	 Huge deficit in balance	 (iv)	 1973 onwards 
	 of payments
Answer Options :
		 (a) 	 (b)	  (c) 	 (d) 
(1) 	 (i) 	 (ii) 	 (iv) 	 (iii) 
(2) 	 (ii) 	 (iv) 	 (iii) 	 (i) 
(3)	 (iii) 	 (i)	 (ii) 	 (iv) 
(4)	  (iv) 	 (i) 	 (ii) 	 (iii) 

59.	 {H$_mZ doVZ H$m`Xm H$moUË`m dfu g§_V H$aÊ`mV Ambm? 
(1)	 1947 	(2) 1948	 (3)	 1949 	(4)	 1950

�� In which year the 'Minimum Wages Act' was passed? 
(1)	 1947 	 (2)	 1948	 (3)	 1949	 (4)	 1950

60.	 ^m§S>dbr ImË`mdarb n[adV©Zr`Vo~m~VMr g{_Vr `m§À`m 
AÜ`jVoImbr ñWmnZ H$aÊ`mV Ambr : 
(1)	 S>m°. gr. a§JamOZ	 (2)	 E_. Zaqgh_ 
(3)	 dm`. ìhr. aoÈ>r	 (4)	Eg. Eg. Vmamnmoa 

�� The Committee on capital account convertibility 
was constituted under the chairmanship of :
(1) 	 Dr. C Rangarajan 	 (2)	 Y. V. Reddy
(3)	 M. Narsimham 	 (4)	 S. S. Tarapore

61.	 XoemV ~MVrMo à_mU H$_r hmoV Amho H$maU - 
(a)	 amoOJmamV dmT> hmoV Amho.
(b)	 ~MVrda {_iUmam ì`mOXa H$_r Amho. 
(c)	 {dXoer Jw§VdUwH$m dmT>V AmhoV. 
(d)	 darbn¡H$s H$moUVohr Zmhr. 
`mo½` n`m©` {ZdS>m : 
(1)	 (a) d (c) \$º$ 	 (2)	 (b) \$º$ 
(3)	 (b) d (c) \$º$ 	 (4)	 (d) \$º$ 

�� There is a decrease in savings in the country because of 
(a)	 Increase in employment
(b)	 Low interest rates on savings 
(c)	 Increase in foreign investment 
(d)	 None of the above Choose 

the correct option : 
(1)	 (a) and (c) only 	 (2)	 (b) only 
(3)	 (b) and (c) only 	 (4)	 (d) only

62.	 nrH$aMZoVrb ~Xb `mMm AW© - 
(a)	 {d{dY {nH$m§À`m aMZoVrb ~Xb 
(b)	 AmYw{ZH$ nÕVrZo {nH$m§Mr bmJdS> 
(c)	 V§ÌkmZmVrb ~Xb 
(d)	 {d{dY {nH$m§Imbrb eoVO{_ZrÀ`m Q>¸o$dmarV KSy>Z 

Ambobo ~Xb 
`mo½` n`m©` {ZdS>m : 
(1)	 (a) \$º$ 	 (2)	 (a) d (c) \$º$ 
(3)	 (b) d (d) \$º$ 	 (4)	 (d) \$º$ 

�� 'Change in cropping pattern' means : 
(a)	 Change in different crop patterns 
(b)	 Cropping with modern methods 
(c)	 Change in technology 
(d)	 Changes in the percentage of agricultural land 

brought under different crops 
Choose the correct option : 
(1)	 (a) only 	 (2)	 (a) and (c) only 
(3)	 (b) and (d) only 	 (4)	 (d) only

63.	 Imbrbn¡H$s H$moUVm Am¡Úmo{JH$ {dÎmmMm ~mø òmoV Amho? 
(1)	 A{Y_mZ ^mJ	 (2)	gmYmaU ^mJ 
(3)	 Zâ`mMr nwZJwªVdUyH$	 (4)	F$U nÌo 

�� Which of the following is the external source of 
industrial finance ? 
(1)	 Preference shares	
(2)	 Ordinary shares 
(3)	 Ploughing back of profits
(4)	 Debentures

64.	 `mo½` OmoS>çm Owidm.
	 JQ> A			  JQ> B 
(a)	 ~±qH$J {Z`_Z H$m`Xm	 (i)	 1969 
(b)	 ~±H$m§Mo amï´>r`rH$aU	 (ii)	 1955 
(c)	 ^maVmVrb ñQ>oQ> ~±Ho$Mr ñWmnZm	 (iii)	 1960 
(d)	 ñQ>oQ> ~±H$ g_yhmMr {Z{_©Vr	 (iv)	 1949 
n`m©`r CÎmao :
		 (a) 	 (b)	  (c)	 (d) 
(1) 	 (i)	 (ii)	 (iii) 	 (iv) 
(2) 	 (iv) 	 (i) 	 (ii) 	 (iii) 
(3)	 (iv) 	 (iii)	 (ii)	 (i) 
(4) 	 (i) 	 (iii)	 (ii)	 (iv) 

�� Match the following:
	 Group A	 Group - B 
(a)	 Banking Regulation Act 	 (i)	 1969 
(b	 Nationalization of banks 	 (ii)	 1955 
(c) 	 Establishment of SBI 	 (iii) 	1960 
(d)	 Creation of the SBI group 	 (iv) 	 1949 
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Answer options :
		 (a) 	 (b)	  (c)	 (d) 
(1) 	 (i)	 (ii)	 (iii) 	 (iv) 
(2) 	 (iv) 	 (i)	 (ii) 	 (iii) 
(3)	 (iv) 	 (iii)	 (ii)	 (i) 
(4) 	 (i) 	 (iii)	 (ii)	 (iv) 

65.	 (a)   ~±qH$J joÌmVrb gwYmaUm 1992 _Yo gwê$ Ho$ë`m Joë`m.
(b)	 gmd©O{ZH$ joÌmVrb ~±H$m§Mr Z\$m j_Vm d H$m`©j_Vm 

C§MmdUo 
(c)	 ~±H$m§Mr gwa{jVVm Am{U gj_Vm gwYmaUo 
n`m©`r CÎmao: 
(1)	 (a) ~amo~a AgyZ (b) Am{U (c) hr (a) Mr C{Ôï>o AmhoV. 
(2)	 (b) Am{U (c) \$º$ ~amo~a AmhoV. 
(3)	 (a) ~amo~a AgyZ \$º$ (b) ho (a) Mo C{Ôï> Amho. 
(4)	 (a) ~amo~a Amho na§Vw (b) d (c) hr (a) Mr C{Ôï>o ZmhrV. 

�� (a) Banking sector reforms were initiated in  
        1992. 
(b)	 Increasing the profitability and efficiency of Public 

Sector Banks 
(c)	 Improving safety and soundness of banks
Answer options : 
(1)	 (a) is correct and (b) and (c) are objectives of (a). 
(2)	 only (b) and (c) are correct.
(3)	 (a) is correct and only (b) is objective of (a). 
(4)	 (a) is correct but neither (b) nor (c) are the 

objectives of (a).

66.	 ^maV gaH$maÛmam àm. nr. gr. _hmbZmo~rg `m§À`m 
AÜ`jVoImbr amï´>r` CËnÞ g{_VrMo JR>Z H$moUË`m dfu 
H$aÊ`mV Ambo? 
(1)	 1951 	 (2)	1949 
(3)	 1948		 (4)	1956 

�� In which year, the Government of India established 
the National Income Committee under the 
chairmanship of Prof. P. C Mahalnobis ? 
(1)	 1951		  (2)	 1949 
(3)	 1948 		 (4)	 1956

67.	 H|$Ð gaH$mabm nwT>rbn¡H$s H$moUË`m joÌmV dmdaVmZm A{YH$ 
H$miOrnyd©H$ d O~m~XmarZo dmJmdo bmJob? 
(a)	 godm joÌ	 (b)	 eoVr joÌ 
(c)	 ~±qH$J joÌ	 (d)	 CÚmoJ joÌ 
darbn¡H$s `mo½` n`m©` {ZdS>m. 
(1)	 (a) \$º$ 	 (2)	 (b) Am{U (d) \$º$ 
(3)	 (c) \$º$ 	 (4)	 (c) Am{U (d) \$º$ 

�� Indian Government needs to be more careful and 
responsible in which of the following sectors. 
(a)	 Service sector	 (b)	 Agriculture sector 
(c)	 Banking sector	 (d)	 Industry sector 
Choose the correct option from above : 
(1)	 (a) only	  (2)	 (b) and (d) only 
(3)	 (c) only	  (4)	 (c) and (d) only

68.	 (a)  ñdgmhmæ`Vm JQ> hm J«m_rU Jar~ bmoH$m§Mm Agm`bm 
       hdm?
(b)	 JQ>mV 25 Vo 30 gXñ` AgVmV. 
(c)	 Ho$di gm_m{OH$ÑîQ>çm _mJmg Hw$Qw>§~mVrb gXñ` AgVmV. 
n`m©`r CÎmao : 
(1)	 (a) ~amo~a Am{U (b) Am{U (c) MyH$ 
(2)	 (a), (b), (c) ho gd© ~amo~a 
(3)	 (a), (b), (c) gd© MyH$ 
(4)	 (a) Am{U (c) ~amo~a Am{U (b) MyH$ 

�� (a)   SHG has to be a group of rural poor. 
(b)	 Group may consist of 25 to 30 members. 
(c)	 Members are of the socially backward families 

only. 
Answer Options : 
(1)	 (a) is correct and (b) and (c) are incorrect 
(2)	 all (a), (b), (c) are correct 
(3)	 all (a), (b), (c) are incorrect 
(4)	 (a) and (c) are correct and (b) is incorrect

69.	 "EH$m Hw$Qw>§~mV XmoZM _wbo AgmdrV' Ago amï´>r` 
bmoH$g§»`m{df`H$ YmoaU Ho$ìhm Omhra Pmbo? 
(1)	 1976 	(2)	 1991 	 (3)	 2000	 (4)	 2001 

�� In which year the National Population Policy with 
'Two children in One Family', was announced ? 
(1)	 1976 	 (2)	 1991 	 (3)	 2000 	 (4)	 2001

70.	 Owb¡ 1991_Ü`o <Mo {H$Vr Q>¸o$ Ad_yë`Z H$aÊ`mV Ambo hmoVo?
(1)	 14 Q>¸o$	 (2)	22.2 Q>¸o$ 
(3)	 12 Q>¸o$ 	 (4)	10 Q>¸o$ 

�� In July 1991, the rupee devaluated by : 
(1)	 14 percent 	 (2)	 22.2 percent 
(3)	 12 percent	 (4)	 10 percent

71.	 M§ÐeoIa _`m©Xm .......... Amho.
(1)	 M§ÐmÀ`m dñVw_mZmÀ`m 1.4 nQ> 
(2)	 gy`m©À`m dñVw_mZmÀ`m 1.5 nQ> 
(3)	 gy`m©À`m dñVw_mZmÀ`m 1.4 nQ> 
(4)	 _§JimÀ`m dñVw_mZmÀ`m 1.5 nQ>

�� Chandrashekar limit is ..........
(1)	 1.4 times mass of moon 	
(2)	 1.5 times mass of sun 
(3)	 1.4 times mass of sun
(4)	 1.5  times mass of mars

72.	 Amoh_Mm {Z`_ Imbrbn¡H$s H$moUmbm bmJy nS>V Zmhr?
(1)	 dmhH$ 
(2)	 AY©dmhH$ 
(3)	 pñWa Vmn_mZ ZgUmam dmhH$ 
(4)	 `mn¡H$s Zmhr 

�� Ohm's law does not apply to ................
(1)	 conductor 	
(2)	 semiconductor
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(3)	 conductor when there is change in temperature 
(4)	 none of the above

73.	 hdo_Yrb nmÊ`mÀ`m ~mînmMr g§n¥º$Vm Á`m Vmn_mZmbm hmoVo, 
Ë`mbm åhUVmV, 
(1)	 Ðdr^dZ q~Xÿ	 (2)	 CËH$bZ q~Xÿ 
(3)	 XdmMm q~Xÿ	 (4)	 nyU© AmÐ©Vm 

�� The temperature at which the water vapour in a 
given sample of air becomes saturated is called the 
(1)	 Melting point	 (2)	 Boiling point 
(3)	 Dew point	 (4)	 Absolute humidity

74.	 ^monmi dm`y XþK©Q>ZoV H$moUVm dm`y ~mhoa nS>bm? 
(1)	 {_Wrb A_mB©Z	 (2)	 {‘Wrb ŠbmoamB©S> 
(3)	 {_Wrb Am`gmogm`ZoQ>	 (4)	 {_Wrb âbwamB©S> 

�� In Bhopal gas disaster the gas given out was : 
(1)	 Methyl amine	 (2)	 Methyl chloride 
(3)	 Methyl Isocynate	 (4)	 Methyl fluoride

75.	 Imbrb dmŠ`m§n¡H$s H$moUVo {dYmZ MwH$sMo Amho?
(1)	 S>m`B{Wb BWa ho gm_mÝ` ~{YarH$aUmgmR>r dmnaVmV. 
(2)	 B{Wb AëH$mohmob ho gd© àH$maÀ`m Xmê$ nXmWmª_Ü`o 

AgVo. 
(3)	 {_Wrb AëH$mohmob ho gmIa Am§~{dÊ`mÀ`m à{H«$`onmgyZ 

V`ma H$aVmV. 
(4)	 B{WbrZ ½bm`H$m°b ho gmYmaUnUo Am°Q>mo_mo~mB©b 

B§{OZ‘Ü`o A°ÝQ>r\«$sO åhUyZ dmnaVmV. 
�� Which of the following statements is false?

(1)	 Diethyl ether has been used as a general anaesthetic 
(2)	 Ethyl alcohol is present in all alcoholic beverages. 
(3)	 Methyl alcohol is produced by fermentation of 

sugar. 
(4)	 Ethylene Glycol is commonly used as antifreeze 

for automobiles.

76.	 dmVmdaUmVyZ H$moUË`m àH$maMo {H$aU H$m~©Z S>m`AmŠgmB©S> 
(CO2) emofVmV?
(1)	 AëQ´>m ìhm`boQ> 	 (2)	 BÝ\«$maoS> 
(3)	 ìhrOr~b 	 (4)	_m`H«$modoìh 

�� Which radiations are absorbed by the carbon 
dioxide (CO2) from the atmosphere ? 
(1)	 U.V 		  (2)	 (i)R
(3)	 Visible 	 (4)	 Microwave

77.	 H$moUË`m àmÊ`mMo öX` gdm©V _moR>o AgVo? 
(1)	 _Ja		  (2)	hÎmr 
(3)	 qgh		  (4)	 {Oam\$

�� The largest size of heart is found in : 
(1)	 Crocodile 	 (2)	 Elephant
(3) 	 Lion		  (4)	 Giraffe

78.	 Imbrbn¡H$s H$moUVm àmUr H$sQ>H$dJm©V `oV Zmhr?
(1)	 _ÀN>a 	 (2)	_mer 

(3)	 ñnm`S>a (H$moir) 	 (4)	 T>oHy$U 
�� Which one of the following is not an insect? 

(1)	 Mosquito 	 (2)	 Housefly 
(3)	 Spider 	 (4)	 Bed bug

79.	 A{Z`VVmnr àmÊ`m§À`m g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ 
gË` Amho ?
(1)	 aº$ JmoR>bobo AgVo. 
(2)	 aº$ W§S> AgVo. 
(3)	 earamMo Vmn_mZ ~mhoaÀ`m Vmn_mZmZwgma ~XbV AgVo. 
(4)	 earamMo Vmn_mZ pñWa AgVo. 

�� What is true in case of cold blooded animals ? 
(1)	 Blood freezes. 	 (2)	 Blood is cold.
(3)	 Body temperature changes with the surroundings. 
(4)	 Body temperature remains constant.

80.	 H$moUVo {Zio-{hado eodmi dmVmdaUmVrb ZÌ dm`wMo 
pñWarH$aU H$aVo d ^mVeoVmMr gwnrH$Vm dmT>dVo?
(1)	 H«w$H$m°H$g 	 (2)	 ½brAmoH°ngm 
(3)	 Zm°gQ>m°H$ 	 (4)	Ho$_rAmogm`\$m°Z 

�� Which blue-green algae fix atmospheric nitrogen 
and contribute to the fertility of rice  field? 
(1)	 Chroococcus 	 (2)	 Gleocapsa 
(3)	 Nostoc 	 (4)	 Chamaesiphon

81.	 Q>°ŠgmZm°_r hm eãX H$moUr {Xbm?
(1)	 h°Ho$b 		 (2)	br{Z`g 
(3)	 A°[añQ>m°Q>b 	 (4)	 {S>H°$ÝS>mob

�� Who coined the term taxonomy? 
(1)	 Haeckel 	 (2)	 Linnaeous
(3)	 Aristotle	 (4)	 De Candolle

82.	 dZñnVtÀ`m `mo½` dmT>rgmR>r EHy$U {H$Vr AÞÐì`m§Mr AË`§V 
Amdí`H$Vm AgVo? 
(1)	 16 	 (2)	 32 	 (3)	 15	 (4) 	12 

�� How many essential elements are required for 
normal growth of plants ? 
(1)	 16 	 (2)	 32 	 (3)	 15	 (4)	 12

83.	 gm_mÝ` bmb aº$ noetMm AmH$ma H$gm AgVmo?
(1)	 H$mo`Vm qH$dm {dirà_mUo (XmÌmH$ma) 
(2)	 {Û~{hd©H«$ (~m` H$m°ZìhoŠg) 
(3)	 {ÛA§Vd©H«$ (~m`H$m°ZHo$ìh) 
(4)	 darb H$moUVmhr Zmhr 

�� Normal RBC's are shaped 
(1)	 Sickle shaped	 (2)	 Biconvex disc 
(3)	 Biconcave disc	 (4)	 None of the above

84.	 _oXmnmgyZ {H$Vr D$Om© (D$î_m§H$) {_iVo?
(1)	 4 {H$bmo H°$bar/J«°_	 (2)	9 {H$bmo H°$bar/J«°_
(3)	 7 {H$bmo H°$bar/J«°_	 (4)	12 {H$bmo H°$bar/J«°_

�� The energy yield of fat is : 
(1)	 4 kcals/gm 	 (2)	 9 kcals/gm 
(3)	 7 kcals/gm	 (4)	 12 kcals/gm
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85.	 "{ndim Vmn' hm amoJ H$em_wio hmoVmo?
(1)	 Ama~mo ìhm`ag/{dfmUy 
(2)	 amãS>mo ìhm`ag /{dfmUy	 (3)	 [aHo$Q²grAm 
(4)	 øw_Z B_wZmo So>\$sgrE§gr ìhm`ag /{dfmUy

�� Yellow fever is caused by : 
(1)	 Arbo-virus	
(2)	 Rhabdo-virus 
(3)	 Rickettsia 
(4)	 Human Immuno deficiency virus

86.	 Imbrb AmH¥$VrVrb H$moZm§Mr g§»`m {H$Vr?

(1)	 8	 (2)	 18	 (3)	 36	 (4)	 38
�� How many angles are there in the following figure ?

(1)	 8	 (2)	 18	 (3)	 36	 (4)	 38

87.	 Oa GAM = 15030 Ago {b{hbo, SIO = 452035 {b{hbo 
Va WEK = ?
(1)	 551020 	 (2)	552510 
(3)	 551025 	 (4)	551030

�� If GAM = 15030 and SIO = 452035 then WEK = ? 
(1)	 551020 	 (2)	 552510 
(3)	 551025	 (4)	 551030

88. 	 AmH¥$VrV àíZmÀ`m {R>H$mUr `mo½` n`m©` {ZdS>m :

(1)	 16 		  (2)	21 
(3)	 61 		  (4)	81 

�� Select proper alternative to replace the question 
mark in a diagram : 

(1)	 6 		  (2)	 21 
(3)	 61		  (4)	 81

89	 aMZoMm Aä`mg H$ê$Z Omir nyU© H$am.
MyH$ IwUm Agboë`m {R>H$mUr Mm¡H$Q>r {ZdS>m.

(1)
	 	

(2)
	

(3)
	 	

(4)	

�� Complete the grid after studying the pattern.
Select boxes for crossed boxes :

(1)
	 	

(2)
	

(3)
	 	

(4)	

90.	 56 620 25 ?+ + =
(1)	 05		  (2)	 9

(3)	 09		  (4)	81

�� 56 620 25 ?+ + =

(1)	 05		  (2)	 9

(3)	 09		  (4)	 81

91.	 A§Oy a§Oybm < 400 XoUo bmJVo. a§Oy g§Oybm < 300 XoUo 
bmJVo Am{U g§Oy A§Oybm < 500 XoUo bmJVo. Oa g§Oybm 
A§Oy d a§Oy `m XmoKtZmhr n¡go XoD$Z gd© XoUr MwH$Vr H$am`Mr 
AgVrb Va {VZo A§Oybm {H$Vr a¸$_ Úmdr? 
(1)	 g§OyZo A§Oybm < 100 {Xbo nm{hOoV. 
(2)	 g§OyZo A§Oybm < 500 {Xbo nm{hOoV. 
(3)	 g§OyZo a§OyH$Sy>Z < 200 CgZo KoD$Z Vo A§Oybm {Xbo 

nm{hOoV. 
(4)	 g§Oybm gd© XoUr MwH$Vr H$aUo eŠ` Zmhr H$maU 

{VÀ`mH$So> < 200 ZmhrV.
�� Anju owes Ranju < 400, Ranju owes Sanju < 300 

and Sanju owes Anju <500. If Sanju is to settle all 
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the debts by giving money to both Anju and Ranju, 
how much will she have to give nju ? 
(1)	 Sanju must give < 100 to Anju 
(2)	 Sanju must give < 500 to Anju 
(3)	 Sanju must borrow < 200 from Ranju and give it 

to Anju 
(4)	 Sanju will not be able to settle all the debts as she 

is not having < 200

92.	 4 + 44 + 444 + 4444 + ....... `m loUr_Ü`o ZD$ 
gmIù`m AmhoV. Oa AmnU Ë`m§Mr ~oarO Ho$br Va Xem§eÀ`m 
{R>H$mUr H$moUVm AmH$S>m `oB©b? 
(1)	 5 	 (2)	 9 	 (3)	 3	 (4)	 6 

�� 4 + 44 + 444 + 4444 +  ............ In this series there are 
nine terms. If we add them which number will there 
be in the tenth place ? 
(1)	 5 	 (2)	 9 	 (3)	 3	 (4)	 6

93.	 {Xboë`m JQ>m_Yrb B§J«Or _wimjaoÀ`m H«$_mVrb JQ> AmoiIm.
DINSX, BGLQV, CHMRW 
(1)	 AGMQV 	 (2)	YTOJE 
(3)	 GHIJK 	 (4)	AFKPQ 

�� Find out the alphabetical term that belongs to the 
given group. 
DINSX, BGLQV, CHMRW 
(1)	 AGMQV 	 (2)	 YTOJE 
(3)	 GHIJK	 (4)	 AFKPQ

94.	 _mUgm§À`m EH$m JQ>mV H$mhr OmoS>nr AmhoV. Cabobo bmoH$ 
EH$EH$Q>oM AmhoV. `mn¡H$s {ddm{hV bmoH$m§Mr g§»`m 60% 
Amho Am{U nwéfm§Mr g§»`m 54% Amho. Va `m JQ>mV 
EH$EH$Q>çm {ó`m§Mr g§»`m {H$Vr Q>¸o$ Amho? 
(1)	 16 Q>¸o$ (2)	24 Q>¸o$ 	(3)	 30 Q>¸o$ (4)	 46 Q>¸o$ 

�� In a group of people there are some couples. 
Remaining persons are single. Out of these 60% are 
married and the males are 54%. Then what is the 
percentage of single females in the group ? 
(1)	 16% 	 (2)	 24% 	 (3)	 30%	 (4)	 46%

95.	 'C' hr 'A' Mr EHw$bVr EH$ ZU§X Amho. 'C' hr 'B' Mr AmË`m 
Amho. 'D' hm 'C' Mm EHw$bVm EH$ ^mD$ Amho. Va 'A' hr 'D' 
Mr H$moU? 
(1)	 ^mMr		  (2)	^mdO` 
(3)	 nËZr	 (4)	 _ohþUr 

�� 'C' is the only sister-in-law (husband's sister) of 'A'. 
'C' is the father's sister of 'B'. 'D' is the only brother 
of 'C'. Then what is 'A' to 'D'. 
(1)	 Niece	
(2)	 Sister-in-law (wife of brother) 
(3)	 Wife
(4)	 Sister-in-law (sister of wife)

96. 	 àíZ{MÝhmÀ`m (?) OmJr `mo½` g§»`m {ZdS>m :

(1)	 74 		  (2)	106 
(3)	 75 		  (4)	100

�� Choose a number in the place of question mark (?):

(1)	 74		  (2)	 106
(3)	 75		  (4)	100

97.	 àíZmW©H$ {MÝhmÀ¶m {R>H$mUr H$moUVm AmH$S>m ¶oB©c?
7/11, 7/9, 7/7, 7/5, ?, 7/6, 7/4, 7/3, 7/1
(1) 7/6		  (2)	7/4
(3) 7/3	 	 (4)	7/1

�� Which number will come in place of the question 
mark ?
7/11, 7/9, 7/7, 7/5, ?, 7/6, 7/4, 7/3, 7/1
(1)	 7/6		  (2)	 7/4
(3)	 7/3	 	 (4)	 7/1

98.	 {Xcoë¶m AmH¥$Ë¶m§À¶m nwT>o H$moUVr AmH¥$Vr ¶oVo?

(1)
	 	

(2)
	

(3)
	 	

(4)	

�� Which one will be the following figure ?

(1)
	 	

(2)
	

(3)
	 	

(4)	
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99.	 {Xboë`m YZm§n¡H$s H$moUVm EH$ nwT>rb H$mJXmÀ`m VwH$S>çmnmgyZ 
~ZdVm `oUma Zmhr?

(1)
	 	

(2)
	

(3)
	 	

(4)	

�� Which one of the given cubes can not be made from 
the following paper cut out ?

(1)
	 	

(2)
	

(3)
	 	

(4)	

100.	 EH$m A§H$J{UVr` loUrVrb 7 dr d 9 dr g§»`m AZwH«$_o 55 
d 71 Agë`mg n{hë`m 12 g§»`m§Mr ~oarO {H$Vr? 
(1)	 512 	 (2)	 521 (3) 612	 (4)	 721 

�� In Arithmatic series, the 7th and the 9th numbers are 
55 and 71 respectively. Then what is the sum of first 
12 numbers ? 
(1)	 512 	 (2)	 521 	 (3)	 612 	 (4)	 721

 
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Ans 1 2 3 4 5 6 7 8 9 10

1 4 4 2 4 2 4 1 4 2 1

11 4 4 3 4 2 2 4 2 4 2

21 4 2 3 4 2 3 4 4 2 2

31 4 2 3 1 3 3 1 3 3 1

41 4 2 2 2 4 2 4 2 3 #

51 1 4 2 1 3 4 2 4 2 4

61 2 4 4 2 1 2 3 1 3 #

71 3 # 3 3 3 2 4 3 3 3

81 4 1 3 2 1 3 3 1 2 3

91 1 1 2 1 3 3 # 4 4 3

ASO - nyd© narjm 2014 CÎmao

# Zo Xe©{dcoë¶m àíZ aÔ H$aÊ¶mV Amcoco AmhoV. 


